& % 8ay - 4y 9] A47} obd AL

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) @y(2x +1)

8x2%y — 4xy = 4xy(2x — 1)




572 — 632 — 1882 + 2122 & AlAtstola},
o

>
> =g 8880

B

(=4)

= (57 — 63) (57 + 63) + (212 — 188) (212 + 188)
= —6 x 120 + 24 x 400

= —720 4 9600 = 8880




3. xX*-(?-6y+9) & UFEolotdA?

@ (x-y=-5)(x—y+2) @ (x-y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)
@ (x+y-3)(x-y+3)

x* = (y* - 6y +9)
=x*-(y-3)
=(x+y-3)(x-y+3)




X
[e]
'C?

xR

20 A

OEE'E/\

x+2)(x+4)(x+6)+16 = A2l Sh= Tgoltt. () Sl
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




@ a+b+2 @ a-b+6 ® a+b-6
@a+b+6 ® a-b+5

B

a+b=A= 54

A(A+1)-30=A42+A4-30
=(A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




6. (2a-3b+1)?>-(2a+3b-1)>=8a(Aa+Bb+C) LW, A+B-C
= Fskoizt

> E:

[> Hel: A+B-C=-4

2a-3b+1=X, 2a+3b-1=Y= 2s}H
(2a—3b+1)% - (2a + 3b —1)?
=X’-Y’=X+Y)(X-Y)

= 4a (-6b + 2)

=8a(-3b+1)

L A+B-C=0+(-3)-1=-4




)

& Ao] SHAAIFAY ul, A4 a o g Fatoler

(x+2)(x+4)(x+5)(x+7)+a

Ch "
| —

| 2
> A a=9

B

EN=(x+2)(x+7)(x+4)(x+5)+a
= (x2—|—9x+ 14) (x2—|—9x—|—20)—|—a

X2+ 9x=A 2 *|35IH

(F4) =(A+14)(A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 +9x + 17)°

172 =280+ a

a=9




8.  dxy-2x-2y+1 & UFEMNHH (ax+b) (cy+d) @™, a+b+c+d
o] gk& Fstd?

o @2 ® 3 @ 4 ® 6

dxy—2x—-2y+1=2x(2y—-1) - (2y-1)
— (2e-1)@2y-1)
La+b+c+d=2-1+2-1=2




9. X+3xy-x-6y-2F AFES otH (x — 2)(ax + by + ¢) ©|T}.
a+b+c o gt= TorefEt
> E

> & a+b+c=5

B ~

x? + 3xy —x — 6y — 25 x°f Tl FlstH
x4+ By-1)x-23y+1) = (x—2)(x+3y+1)
ca=1,b=3,c=1

“a+b+c=5




10. x*—y*4+6x-2y+8 = ATEMNHH (ax+by+c)(x+y+4) & o,
a+b+c o g Tt

x2 -y 4+6x-2y+38
=2+ 6x— (2 + 2y - 8)
=x>+6x-(y+4)(y-2)
={x-0-2)Hx+(+4)}
=(x-y+2)(x+y+4)
~a=1,b=-1,c=2
“a+b+c=2




11.

X2 =2y% +xy—2x—y+ 12 AFEl5HH?

O (x+2y-3)(x—y-1) (@)(x—l—2y—1)(x—y—1)
® (x+2y-1)(x-y-2) @ (x-2y+1D)(x+y+1)

® (x+2y+1)(x—y+1)

B

P+ (y-2)x-22-y+1
=+ (-2)x- (2 +y-1)
=+ (-2)x- (-1 +1)
={x+@-D}{x-0+1)}
=(x+2y-1)(x-y-1)




12.

TFFA] x? — dxy + 3y? — Tx + 5y — 8 = Ql2aliolH?

@ (x+3y-8)(x+y+1)
® (x+3y-8)(x—y-1)
@ x-3y-8)(x-y+1)

@ (x=3y+8)(x+y+1)

@ (x=3y+2)(x-y+4)

-4y +T)x+3y?+5y-8

=(x-3y-8)(x—y+1)

=x>—(4y+Tx+ By +8)(y—-1)




13. 15><3é92—_115><32 o] 712 atolal

[
H -

>
[> o= 3

oH =

15x39-15%x32  15(39 - 32)
= =3
62— 1 6+1)(6-1)




14. V8IXO0Tl+1=10xx2 < o, x O] gt2?

D =3 @i3 @ 9 @ =+18

V(O0-1)(90+1)+ 1= V902-1+1=90
10x2 =90

SLox==3




V6 o 24 B2 a et @ W, a® +da+4 9 P& oot

2<V5<30|B2 g=+5-2
natt+4da+4=(a+2)?%=(V5-2+2)?
= (V5> =5




16.

thg £7& ol gste] 2 +y2 2 Tatelet,

Q@ xy=

© 3x+3y+x%y+ x> =36

[
H -

>
[> ek g

oH =

B

3x+ 3y + x%y + xy? = 36

3(x+y) +xy(x+y) =36

(x +)(3 + xy) = 36l A]

xy =6°] B2 x +y=40]|c}.

Loxt 4yt = (x4y)? - 20y
=4%2-2x6
=16-12=14




17. [a, b, o] = (a=b)(a=c) =t L W, [a, b, |- [b, a, ] T A3,
(xa+yb+zc)(pa+gb+re) oItk Ol W, x+y+z+p+q+r 9
A0

@ -1 @ 3 (@)0 @ 2 © -2

B

(a=b)la-c)—(b—a)(b-rc)
=(a=-b)(a=c)+ (a-b)(b-c)
=(a=-b){(a-c)+(b-c)}
=(a-b)(a+b-2c)
SLx+ytz+ptqgtr
=14+(-1)4+0+1+1+(-2)=0







= 4
19. 2+ V3 O A% BES x 25 FES y AR T ), (1- V)’ +

of g FotofaL,
>

> Het: 6

B

3<2+ V3 <40]8
2+ V3 o JLRE
x:3,y:\/§—1

(- i)

=2
2 3, A4HEE2 V3-10o[th

L4
V3-1

i 1(B)
ST




x16-1 ] 914 xn 4 1 ] el m o] B 5 Gl ALY

20.

@ 2 ® 4 @)6 ® 8

D1




21. A=-12422-32442-52 4+ 6272 4+82-92 4102, B =9945 &}
o, B2 - A% o] ZL& Tkt

> &

ZEr T 98900000

B ~
A=-12+22-3%2+42-52 462
-7% +82-9%2 +10?
= (22 —12) + (42 - 32)+
(62 - 52) + (82 - 72) + (102 - 9?)
=2-1)2+1)+(4-3)(4+3)+(6-5)
(6+5)+(8-7)(8+7)+ (10— 9)(10 + 9)
— S L L 1 T
= E5

. B2-A%2=(B+A)(B-A)
= (9945 + 55)(9945 — 55)
= 10000 x 9890
= 98900000




x=34+V8,y=3- V8L, (x+y)2-(x-y)? 9 FeUL,

® 1 @ 2 @3 @ ® 5

(6" 5% = (x" = y")?

= (@ 4y + 2 -y (& + Y - 5"+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3-V8) =1

S Axy)t =4




23. - 2x+22—y? & AL EHHA?

O (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)
® (x-y+z)(x-y-2) @ (x+y-z)(x—-y+2z)

@ +y-2)(x-y-2)

-2z +2 -y =(x-z7)>%-)2
=(x-z+y) (x-z-y)




24. T AL a4, b7t (a-1)° —4b% =33 S WET ), &AK (0, b) =
™
=

q
A4 a
&9 7 2As=7F (T, a > 2b > 0)

14 @21 @3 @4 ©5A

B ‘
(a—1)* —4b? = 33 |4

(a+2b-1)(a—2b-1) =33

a>2b>002=2

33x1=33EE=11x3=233

gt 272 HEIE (g, b) £ (18, 8), (8, 2) 270 AT

= - 1




25.

ab= -4, (a+2)(b+2) =102 W, a* + b> 4 a®b + ab? 2] F-2?

@® 121 @ 134 ® 146 @ 152 @165

(a+2)(b+2)=ab+2(a+b)+4=10
ab=-4E WY H a+b=5
T a2+ b2 = (a+b)*> - 2ab =52 -2 (-4) = 33

v a®+b® +a*b+ab® = a® (a+b) + b* (a+ b)
= (a> +b%)(a+b)
=33x5
=165




